HSC 2001 - Personal Development,
Health and Physical Education

Question 13

13 An athlete was required to complete five vertical jumps in 10 seconds.

The results are shown in the table.

Attempt 1 2 3 4 5
Height jumped (cm) 70 70 66 64 60

These results are consistent with which of the following statements?
(A) The athlete’s ATP/PC stores have been depleted and there is insufficient recovery
time between attempts.

(B) The athlete’s glycogen stores have been used up after the second jump, and fatigue
has set in.

(C) The athlete’s level of aerobic endurance is low, and this has resulted in oxygen debt.

(D) The athlete’s work at maximum effort has caused lactic acid build-up, and this has
reduced performance.

Choice | Band 1/2 Band 2/3 Band 3/4 Band 4/5 Band 5/6
A 38.5 53.5 69 85.3 92.1
B 22.5 18 12.9 4.1 1.6
C 9 5.9 1.7 1 0
D 30 223 16.4 9.6 6.3
N 0 0.2 0 0 0
Question 13
100
|
a0
B
Gl
c
40
B
20
B
0 | -
Band 142 Band 213 Band 344 Band 46 Band &t

The table and graph show, for the groups of students whose marks in the examination corresponded to the
borderline between two bands, what percentages of each group selected the responses A, B, C and D. N is used to
identify: No valid response.
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